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L 1A ($3H)

1. yv=m(x+a)+b
y=mx+ma+b
y—ma—b =mx

_y—-ma-b

m

2. X+ 2xy=yz
2xy = yz—2X
2xy=z(y-x)

2xy

2=
<

y-x

r+2c
r—2c
A(r=2c)=r+2c
Ar—2Ac=r+2c
Ar—r=2Ac+2c
r(A-1)=2c(A+1)
CHA-1)

CT3a+ 0

3. A=

_ 2kH
H + cos 6
S(H + cos 0) = 2kH
sH + scos 0 = 2kH
scos O = (2k—-s)H

4. s

_ scos 0
H= 2k—s
5. Rx+a)b+1)=R2x—-a)(b-1)
2bx+2x+ab+a=2bx-2x—ab+a
4x =-2ab
_ab

2

(42 _
6. (a) y= 3-‘5+-_23\
.= 3(3x+2)-5(2-x)
T 15
15y =14x-4
15y+4 = 14x
15y +4
X = ==

4

(b) i y = 10 fLA x = 120*4

14
_15(10) + 4
B 14
=11
2 r
7. (a) §=C <d+m>
S r
(.—2 —([+m
\ r
Lod=
e 100
r= lOO(%—d)
JE

b))% c=-2.,d=4 W s5s=17

e 100(13-(1) :

o

= 100[ [F ,_4]
(~2)°

=25

8. (a) Sxy—4=12x
Sxy=12x+4

v = 12x+4
T 5x

(AW
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() x=1x10* fA y= ‘2«;'; :
120110 Y + 4
Cos(x10h
_ 12+40000

5
= 8002.4

9. v h=dc+cd K h=5d-6cd
4c+cd =5d-6¢d

4e+7cd = 5d
c(4+7d) =5d
__5d
4+17d
—py PR
10. A_P+20
20A=PR20+R)....... (i)
—py PR
B_P+25
25B=P(25+R)....... (ii)
(i) = (i) - 228 - 20+ R
25B  25+R
4A _20+R
5B 25+R

100A + 4AR = 100B + 5BR
4AR-5BR = 100B — 100A
R(4A-5B) = 100(B - A)
_ 100(B - A)
4A—5B

11- (a) VV'__X+.\_..\VZ
w-x=y(1-2")
_w=x
y=173
b)ff w=-8, x=-6 X% z=4 ftA
w— X
y:

.\,:—8‘—(—?6)
[ -4
_ 2
T 63
BERETPEEEAE [$12-13 &)
12. V=6J\'—3
i 2x
13, p= 228 2
Lept 17

14. (@) # f=5a-3 KA 4f+2b=5,
4(5a-3)+2b=5
20a-12+2b =5

20a = 17-2b

a= 17-2b
20

c=5a+2b

17-2b
=5(———20 )+2b

(b) (i)

[ 195 (a)]
_17-2b
T4

o= 17+ 6b
T4

+2b

i) ¥ a=2 A o= 1228

20
5 17-2b
20
40=17-2b
2b =-23
23
)

H%b=—22—31‘c‘)\c:'7+6”.

1
17+6(-2)
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15. (a) r(2-3s) =s(2-31)
2r—3rs =2s-3st

2r =2s—3st+3rs

2r =s(2-3t+3r)

2s-3=52u-3)
2s—3 =2su—3s

S5s—2su =3
s(5-2u)=3
_ 3 -
Ry m ......... (")
FE (i) 0 (i) , w175
2r 3

2-3(+3r 5-2u
2r(5-2u) =3(2-3t+3r)
10r—4ru=6-9t+9r
r+9t—6=4ru

_r+91-6
- 4r

(b) 4 r=_5 M =9 feA y="+t9-6

r

_=5+49(9)-6
T 4(=5)

|
(S

16. (a) [(r+ 1)H—-5s]r=3s—r(2H —5)
r(r+1)H—rs=3s-2rH +rs

(r2 +r)H +2rH =35+ 2rs

(r2+3r)H =3s+2rs

= 35+ 2rs

Py

rm+3r

R

(b) 4 H=s+1 ftA H=35%2rs

2

r +3r

3s+2rs
;Sv+ 1 = 7—

r +3r

(s + l)(r2+3r) =35+2rs

r2s+3rs+r2+3r= 3s+2rs
2 2
r+3r=3s—rs—rs
2 2
r’+3r=s(3-r-r")

N
r+3r
Bt

2
3—r—r

(c) # r=—9 ftA 5= L+

3—r—r"

(=9)% +3(=9)
3-(-9)-(-9)°

18
L

§ =

17. (a) (i) E:Rﬁr

E(R-r)=3r
ER—-Er =3r
ER =Er+3r
ER =r(E+3)
ER

E+3

L(R-r)
2R

2FR=LR-Lr
Lr=LR-2FR

. R(L-2F)
- L

(ii) F =

(b) 1 (a)(i) F1 (a)(ii) WIS, Alf5

ER _ R(L-2F)

E+3 L
EL=(E+3)(L-2F)
EL=FL-2FEF+3L-6F

2EF +6F = 3L
2F(E+3)=3L
po_ 3L
_ 2AE+3)
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(c) #% E=33 fil L =24 LA

3L
20E+3)

304
T 2(33+3)

=1

18. (a) i A A1 B ik 2 RIAYEEBER 5 km .
IRIRER , "1

Mos=(u+3)t-2) ...... (ii)
i (i) A (i), AT
ut =(u+3)(t-2)

(b) 1 (a) .
ut = (u+3)(t-2)
ut =ut—2u+3r-6
2u+6 =3t

_2u+6

=73

fe) # u=3 LA 1=

;2 203)+6
T3

2u+6
T o

=4

O ANH A WeETTH B U R A0 RS
4 /N,

o (o) . JEE _ RRR
@) wmRs = RS T A R

A= (wrr+w)w+2r+w)—r(2r)
=(r+2w)(2r+2w) - 27
=2/ + 2w+ drw + 4w’ - 2,7

= 6rw + 4w’
A =2w(3r+2w)

(b) 1t (a) ,
A= 6rw+ 4w’
A —4H'2 = 6}’%’
2
A—4w
¥y =
ow
(C) H%‘ w = 4 *” A = 400 ft}\ # = A;‘:‘H'- .‘
_ 400 4(4)"
IE)
- 14
FH A1) 1 R
=(rx2r) cm2
= (14x2x 14) cm’
=392 cm?
ERTREEHE (¥ 20-24 H]
20. A 21. E 22. A
23. D 24. C

EEETR e zem)

vsin’@
2g

1. h=

2gh =v sin”

sin?@ = 28"
v

sinf =+ 22‘—/'
2. log pqg =logr—4logs

4log s = log r —log pg

log 5t = log L



HEHRE 1BE#E (4)

3. u=1-61-5
= ( =61+9)-5-9
u=(t-3Y>-14

(b) ¢ (a) .
(-3 =u+ 14
t-3=%Ju+14
r=3%.Ju+14

a
an(r’ + 03"
a

oon

dn(rt + 0%

1
2 2 _ a n
r _[41t(b—c)]
1
a B 2
47t(b—c)] =4

ik r>0, FrLL

i
_ a "2
T «/Lm(b—c)] ’
5. (a) = ,ax'd—b

5
22 ax —-b
¢ X =

d

2

) 2 2
cdx"=ax" b
b= ax2 - Czdx2
b= .xz(a - (‘zd)

2 b
X =

2
a—cd

A% 5
A x BEIES, Aril
b
X = <
a—cd
3 4
(b)ﬁ%’a—g- g{t)\
6. (a)
s_q__r
C 10 000
r _ s
10 000 ~ c
P = 10000(1—%)
r=+100 [1-2
N <
(b) & c=16 fls=7. HI
r W9 IERLE = 100 1-%
=75
_ |b+ke
7. a= P
az_b+k(-
T b—ke
azb - azkc =b+kc
azb -b= azkc + ke
b(az— 1) = kc(az+ 1)
p=ElE 2L ... (i)
a —1
ab=b+k
ab-b =
b(a-1)=k
YO I (i)

a—1



BEEXREB 1BER (%)
(i) F0 (i) . AT
ke(a®+1) _ &

SLo1 a-1
¢ = at -1
(az+ D(a—1)
_(a+1)(a-1)
(@ 1)(a—-1)
a+ 1
—a2+l

8. (a) ESEBAEE = /07—

OB ESEE CRERE
MoBBRE T MOBERE T muBe AR

V= lnrzdﬁz 4 ! (énr3)

3 2\3

V= %nrz(,\lﬂz i+ 2r)

(b) 7 (a) ,

3—‘/7— 22
T
=
3‘2—2): 0 —r
r
3 22 02
(;‘:—Zr) =40 —r
T
Y

B £ —E 2 R, Arbh
2, 3V 2
L= |[r+(=-2r
’ (nr' ’)

mHHH%V:§¥EWr=5ﬁA

2
0= |+ (3—‘:—21'> )
o

1 2
B pm g pEs 3V -

W SerrmmEE - 17

 FOREIHE 6:5,

. (@) B AE ] A4 LE T 70 A 4 S {1 =

T T A T i 4 1 5 T S 4 2 — ] =
i

m=2[2(n-2)+3(2)]
om=4(n+1)

(b) B AR EFTE , RIERZ x cm MAEHE
I H
=4n—(n-1)
=3n+1
R = A, REZ ycm BRI
1% H
=m
=4(n+1)

w L=0Cn+1)x+4(n+1)y

(c) % (b) .
L=3nx+x+4ny+4y
L-x—-4y=n3x+4y)
L—x—4y
3x+4y

n=

A L =35 . x=12 fl y=10 ftA

L—x—4y
3x+4y

356 12-4(10)
TO3(12)+4(10)

-4



BEEXKE 1BEMRE (%)
(d) % L =192 fil n =35 fRA (b) F9&5H,
192 = [3(5)+ 1]x+4(5+ 1)y
Bl 2x+3y=24 ..o, (i)
#L=56 Fln=1 LA (b) U&E ,
56 = [3(1)+ 1]x+4(1+1)y
Bl 2x+4y=28 .....ccvnnnn.. (ii)
(i) (i) :y=4
Ay =4 LA (),

2x+3(4)=24
x=6

10. (a) “FAERYFIZ = ﬁ

£ n FRLLEE R — W = 20

# 2n

(b) (i) A:p@+l_

(i) # A=14641, r=20 Ml n=2 ft

B 200 >2n
AF=4 (200 +r
200 \2®
p= m( )
ek 200 + 20
= 10 000
2n
- r
(e) (i) A—P@+%a
2n
200 + r\~
3 "P< 200 )

200 + r
200

log A =log P+2nlog

]
o
~

) 2
2nlog “02003 L= log A—log P
n= log A —log P
- 200 + r
2log S50~

n = log A—log P
" 2[log (200 + r) — log 200]

(i) % r=8 1 A=2P LA (c)i) BI%E
% bl
B o= log 2P —log P
~ 2[log (200 + 8) — log 200]

_ log2 +1log P-log P
~ 2(log 208 —log 200)

_ log 2
~ 2(log 208 —log 200)
=8.836 5
n R S BT
w8 =9
EBTSEERE (£ 11848)
11. E



C WA GZH (R RY (58
=$1.15x(1-20%)

= $0.92x
18
100 000 x 5 x 5 o C AT $1196
1. /1=— =
100 o 0.92x=1196
= 7500 x = 1300
PP A B RS2 $7 500 . oA BEAEYRRRE SR $1300.
2. B TWIERM A TR P . 6. %R EUE Ay A (E AN EE R 2 Sx
P(1+8%) =21 600 $y
1.08P = 21 600 Cl 5y =8x
P =20 000 g Uy
TSR A HFE $20 000 . >
BFl % = ‘;X‘ x 100%
1 8
3. v a = (] - 33§%>b sX-X
: = x 100%
4 X
a = ib 8
: - (__ 1) x 100%
4 5
. a+b= §b+b = 60%
a-b -
7, 7. G AR Sx .
= x(1-20%)(1 - 5%) = 342
37 0.76x = 342
=7 x =450

% SRR E S $450 .

4. (a) H1H = $250(1 + 12%)

= $280 8. Ba% HAUKER AR $x .
(b) E{8 = $250(1 — 35%) x(1+15%)(1 - 10%) = 621
o 51625 1.035x = 621
e x = 600

i% F AR AE S $600 .

5. i A WA R fEEE 2 S .
B WA %40 R IRF 1) 15 88
=$x(1+15%)
=$1.15x




BEERE 2A B (%)

9.

10.

11.

AR R = 10 = 50

T 2 AF R LAEAE 2 — H 0 HA S
=2x2
=4
oL

= $50 000

(5] 1]

= $10 800 (% # & = {2 47 2 F)

R IR AS B W ek A FIT N T RAS 43 Il 2 Sk Al
Tk . He k#0,

PR 14 B S A

Sk+ Tk
12k

I

TERE A%

PIELHIRI A = Sk(1 +20%)
= 6k

NLHEA = Th(1 —4%)

= 6.72k

6k +6.72k

12.72k

85 N NE R b

_12.72k - 12k
- 12k

0.72k ‘
= ﬁk— X 100%

= 6%
LSRRI 6%

10\?
(”m) ‘1]
= $4 200

e~ 10000 x rx 10
WAE = ———""7 7
) $ 0

= $1000r
. 4200 =1000r
r=42

BB NA

x 100%

HALE = $20 000

6000x4x3

WA E =
12. A $ T

=$720

WALE = $6 000[(1 + ﬂz)—o)ﬁ_ 1]

= $756.974 5
2 = $(756.974 5 —720)
=$37 (FAERBELHL)

13. &L 6% FFIHFN 7% FF) H IR AL 154 IH

PG 0 BB A 73 5l & $x A $(16 000 - x) .

xx6x1  (16000-x)x7x1

100 100 = 1010
6x+ 7(16 000 — x) = 101 000
x= 11000
16 000 — x = 16 000 — 11 000

= 5000

o Lh 6% FERIFEF 7% FERGURAE Y 4

TELE ) 0443 B & $11.000 F1$5 000 .

14. 3 /NIRFAR A A HH
%
_ 10
=3 000(1 + 100)

= 6655

15. (a) aZdlriifE 1996 £/ n 121 AT

_ L n
= 6500000(1 + 100)

(b) 7E 2001 4EWaZ ki ny A1
2 )3()()1 — 1996

= 6500000(1 + 106

= 7180000 (M5 £ = 454 L F)

16. ez ENREEUR I (B2 $x &
4 AR %Y EN Y 8 (B
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